Nom : Date :

https://www.letopweb.org

Table entre | et 3

Niveau facile
2x10 = 8 x 1 = 2 x1 = 1M0x2 = 1x5
3x10 = 7 x1 = 1x8 = 7 x1 = 3x6
1x5 = 6 x1 = 2x7 = 0x3 = 3x0
1x10 = 4x2 = 1x7 = 9 x1 = 3x8
Nom : Date :

Table entre | et 3

Niveau moyen

2x6 = 8x3 = 2x0 = 0x1 = 3x0

3x10 = 8x2 = 1x0 = 1x3 = 3x6

2x9 = 9x2 = 1x9 = 4x2 = 2 x1

2x3 = 8x2 = 2x5 = 8 x 1 = 1x6
Nom : Date :

Table entre | et 3

Niveau difficile

3x10 = 8 x 1 = 3x7 = 3x3 = 2 x1
2x6 = 9x2 = 2x4 = 2x3 = 2x5
3x3 = 5x3 = 2x7 = 0x3 = 1x6

3x0 = 2 x1 = 3x9 = 9x3 = 3x8



Correction de la série verte

x10 =20 8x1 =8 2x1 =2 10 x 2
x10 =30 7x1 =7 1x8 =8 7 x1
x5 =5 6x1 =6 2x7 =14 0x3

x10 =10 4x2 =8 1x7 =17 9x1

Correction de la série bleue

x6 =12 8x3 =24 2x0 =0 0x1
x10 =30 8x2 =16 1x0 =0 1x3
x9 =18 9x2 =18 1x9 =9 4 x2

x3 =6 8x2 =16 2x5 =10 8x1

Correction de la série rouge

x 10 =30 8x1 =8 3x7 =21 3x3
X6 =12 9x2 =18 2x4 =8 2x3
Xx3 =9 5x3 =15 2x7 =14 0x3

x0 =0 2x1 =2 3x9 =27 9x3



